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“i can make a transition to c at time t” defined as: 
i is not in state c at time t and delta_i(x_{i-1}(t) , x_i(t) , x_{i+1}(t)) = c 
 
-> “i cannot make a transition to c at time t” defined as: 
i is either in state c at time t or delta_i(x_{i-1}(t) , x_i(t) , x_{i+1}(t)) \neq c 
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Fault -> state flip -> a new token 
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difference between self-stabilization and bounded self-stabilization 
T: only makes sense in stronger schedulers than weak-fair schedulers 
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Tokens see each other. 
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Tokens merge. 
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random solution: e.g. in synchronous scheduler. 
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Proof that we cannot: duplicate ring. For a node i in the original ring there are 
corresponding nodes i‘ and i‘‘ in the duplicated ring with the same initial state. 
Whenever i is scheduled, schedule i‘ and i‘‘. Corresponding nodes i and i‘ and i‘‘ will 
always have the same state (proof by induction). Thus there will be at least 2 tokens 
in the duplicated ring. 
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scheduling i‘ and i‘‘ when i is scheduled. 
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N+1 nodes, node 0 with different code than others. 
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